=R/ FiA)

& 7 %5( i % zﬁ (A KA/ 5 Al

1F o B ] — e | & & | BT
120}16-1 ?Eﬁ%&’éﬁ&%‘%%%‘%ﬂtl (EFR) 1,800 2,000| smelbmp| R5.3.10
121191 EEHFEEEETLEA T (1 BEH) 1,437 1,600| smusmes| R4.7.28
122|131 HEEBFEEHETLEA I CEEH) 1,437 1,600] s by | R4.12.21

B/ 123[19- 115 EXEEXEETEA LD (BEEH) 1,437 1,600| smuitmi| R4.8.26
124121 $EEHFEETEHETLEA T 4BEH) 1,437 1,600 smuitmis| R4.9.14
102)13-1 MR EEEETHA 1,700 1,800 smui | R4.7.13

103| £ 5THR20MI BHEZSE 1,900 2100| omeibm| R5.7.1

T 10411 EHLEFRAEE (2PhH) 1,400 1,600] smui | H20.6.30

105|6-25Thr RIBEHREE 2,610 2,900 g R5.2.1
106|EERFIETIE ThAMYPT LV ERKBENDREES | 630 700] amu e | $in2sen
108|2-1 B#T ZiHEBZHOMER 4952 5,239 g H20.9.25

109| S 16 FE IR = EE B R ABEH A 3,420 3,800 g R5.8.10

&l 110|18-25T2kR EIRIEEMES 4,320 4,800 &5 R5.3.1
111 FR2EREFRSNNE 3,960 4,400 g R2.7.10

12| ERNEZDEMEEQKA 600 1,000] st bamps| H28.4.1
114)1-2 2 7 # fi 755 952 smutmu| H16.5.6

115 B ERHAREY=17 /L @ITR) (Rtin) 2,160 2,400] oMl e |  R4A3.1

S| 116|1-2 ERMES 1,000 1,238 smui by | H26.3.22
18| EMEICEF20BEAR BN T vY 1,155 1,800] smui £y | H28.4.15
125|HKEThR ETARROFIIE 1,350 1,500] 2mui £ | R3.10.15
126|65THR ErEEZE1R S EHELE 1,080 1,200] smui £ | H29.7.10
128A18-4 EAXREXFEEHBIEV\ETHAR) 834+ 5,000 6,800] smui g | R4.10.26
132A140 Z(HEEFHEAEZHACD-ROM Verd0 2,600 3,200 siul E4mss| R4.10.26
131]1-1 BRI BEERIRIZI0EH| 1,000 1,200] smu £ | H20.8.29
230|151 e EHEEEEHBEERR) 1,700 1,900] smu @y | R4.10.13
231|11-1 IR EHREE T EMBEESER) 1,500 1,700 smuitmyy| R4.88

S| 232|122 EEHEEEERNEECEED) 1,500 1,700] smu b ms| R4.12.28
233|6-1 IEEHEEXERBEEGEER) 1,500 1,700] smuitmi| R4.10.26

1| 234|6-1 EEBREEXEMEEUEER 1,500 1,700] smu b me| R2.11.25
235|2-1 EEDEEEBI-HDEFIBENERE 1,800 2,000] sl by | H2246

Rl 236]2-1 ZHEISKROONDIVTMTVAEE 1,800 2,000| smyl bmp| H22.4.6
237|1-1 X2 Fo-av LA EEREEE 2,091 2,400] smyl b | H23.12.13

7| 24011 ZHEE DD DESHEE) 2,473 3,000] el g | H25.1.29
241|1-1 EEE D=-HD#EHHT(DVD) 3,473 5,000] e#zel b | H25.1.29

U 242111 ZHEEDE-HDES M (YR 5,709 8,000|styhui Famg H25.1.29
238|2-1 BRIFETEHA MBEHBERR(EZR) 1,419 1,732| smuitmi| R3.6.28

J|  239|4-1 MRS ES 2 RIS ERIREE(100R) 1,400 1,800| smuitmi| R5.4.22
249041 B HBEHZDOF3IEHR) 2,000 2,190| smul Em| H30.1.31
JU  250]5-1 B EREBOFEI(LER) 2,091 2,286 smul by | RIT.12.24
251012-1 ZEPREE (£ 75 2 MRS HR I ZE £ (200R9) 2,400 2,800 sl bsme| R5.7.20
252[6-1 2 A (i 275 1 #RA5 153 RS RE ££(200R%) 2,400 2,800 smei by | R2.5.27
253|14-1 ZHEHELAEERLER) FETR 1,800 2,000] sl bamy| R4.33
254|711 2SR BFHAGE - HBE) FETR 1,900 2,000| smylb@mp| R3IT.9.17

B 255|9-1 BHEHERERGERE) HETR 1,900 2,000| smylbgmp| RIT.9.26
| 256|1-1 ZiHEHERERCERE) TR 1,900 2,000| smyi kg | H18.7.7
| 257|211 EHEEBEFHABME) TR 1,900 2,000] smelbme| R24.1
258|1-1 SR E X ;EE 1,755 1,905 smu bme| H13.1.31




1-F o 2 INE B e —fRimis | = & | s
259|2-1 EEMKERE 1,800 2,000| smel Emy| H28.4.15
260)2-1 ERMKBFELHERS 1,755 1,905| smusmy| H2257

H 261|6-1 WHEEEEEMESE FEREMN 2,000 2,200] sl bame| R44.15
Ul 262)1-143ab e s TRIE D5 KA D DHENZ0. 455 800| smu1tmi| H27.8.20
|  263|4-1 EE R - BBRELERR 1 R EERIREE(250R]) 2,400 2,800 smelbmy| H31.35
264[8-1 B B & - IRKHE 2 FRAE BRI E £ (250R9) 2,400 2,800 sl E4ms| H30.1.31
265[1-1 BHRBELA BEEHEMERBABR(EER) 1,419 1,732 smuitma| H31.2.27
266[3-1 & B BB E (H 2 RIS ERRIRESE(100R8) 1,400 1,800| smuitmss| R3.10.26
200|12-1 ZAFELHEBOFSI@IHR) 1,900 2,190 smeibmy| R3.4.20
201|5-1 RBFELHEBOFSI(LELR) 1,810 2,000| smpi b | R5.1.21
fAl 215|181 R ABFELHE2MISEERIELE (2007) 2,400 2,800 sl bme | H29.8.9
X| 205|2-6 R BFEEHEE2MIEERIRELE(100R]) 1,400 1,800 smuitmu| R4117
Bl 204|171 EFEZHER 1 RIESRIREE(200R) 2,400 2,800] smpibmy| R54.18
El  202|12-1 R ZEHEBED TSR 2,182 2,381 smui b | H30.1.31
Rl 203|8-1 MERZHEBEDTF5I(LR) 2,182 2,381 smuitamp| R3.4.20
214)15-1 MEER E M EFE 2 MR EIRIRELE (200R]) 2,400 2,800] smuiEgms| R3.10.26
207[6-1 FMESRE i £ 752 RS E R RE££(100R) 1,400 1,800 smuitmi| R5.9.13
208|9-1 M SR (i E 75 1 RIS R RIRE S (200R8) 2,400 2,800 smul Emp| R3.11.24
209|111 2 8 i (B6#I) 1,400 1,900] 1imurms| R3.4.14
210|141 HRETHAX EFEZHEH2REZR) 1,419 1,732 smui @y | R3.12.10
211|3-1 BRAETLAR BREHERREER) 1,419 1,732| smuitm| R44.27
280|2- 1 EEEEGEEER) &A I (EXE) 1,200 0] == H24.8.8
281|3-1REEEEGEEER)KARI 1 5EH) 1,200 0] == R2.8.20
282|2- 1 EEEEGEEER AL 25 £%) 1,200 0] == H24.8.8
283|3- 115 EFFHGEEER AL (BB 1,200 0] == R3.2.22
284[3-1{EEEFEGEEER AL USEH) 1,200 0] == R2.8.20
285 | R EREBOF 564 762] smutgms| H18.9.20
| 286|MMEHEFDFS 1,800 2,000] sl by | H18.10.30
2872 1 RREBEBOFSI 1,000 1,200] smui £ | H26.11.7
28921 R BEFEEEBEDFSI 1,400 1,600 smui e | H26.3.22
291 | B EREBOF 1,600 1,800] smuitgme| H19.7.3
Tl 279|211 R EREHF DTS 1,800 2,000| smul b | H26.5.24
28813-1 EHIEICLDERMEREHER 1,800 2,000] sl b | H29.7.18
293|12-4 EiEEE DR (125T45R) 2,755 3,000| smyirgp| R5.8.10
423|Z K F iR 855 1,000 = = H20.11.1
E 224 |ZHFR HHAN BRI 100fLLE 10,000 10,000] = = -
425\ EFRE #HBAN (EXFERIK) 100 E 5,000 5000] = = -
537|1-1T RIRIREESE BF 946 1,048 smu g | H21.12.16
539|1-11/ME - KIBIRIEESE) BT 1,046 1,143 smutgmp | H22.11.25
Bl 540|=@EEna haYOTLVE 2,286 2,600 smui b @y | H24.12.3
5415-1 X)) T4 TS F—HEHAR[E14] 5,182 5,400 smuiE g | R3.10.26
542|5-1 X ) T4 TS F—HEHAR[FE2%] 2,182 2,200 smui k| R3.10.26
538|4-1 X1 T4 TS5+ —BEMBEE 2,091 2,400| smyibgmp| R5.6.24
550|3-1 2T o av LA NEEHA[E 15] 4,755 5,400| smyi k@ | R3IT.10.1
551|3-1 % )Fr-ao LA NEBHA[FE25] 2,755 2,800 smyi kg | RIT.10.1
03| EELERE 791 1,000] smui tsmys| H28.7.27
304 —0—FI(T 17102 74—hR) 1,200 1,500]21mu tme] H9.10.13
2] 309|tFaYT4- =27 ILNo.1 1,000 1,200] smui | S61.2.20
310|*xa) T4 ¥=27JLNo.2 1,191 1,400] smui | HIT.3.10
311|EFa T4 ¥=27JLNo.3 2,091 2,190| smelbmp| H9.6.17
312|&F¥a)T4-%=27LNo.4 2,091 2190 smelbmu| H74.1
313| X ) T4 <¥=2F/LNo5 2,282 2,381 sl Emy| H12.12.20




1-F o 2 AN B fla ] —heimis | = 5 | BT
403|Zim B 4 BRI (30K tvh) 528 600 = =
404| & BB AR (30t vh) 528 600] = =
405| X2 T184 L A5) 728 728 = &
407X T484 L (RATT B ES) 1,455 1455 = & R4.11
409X 2 T154 L (1 FFER) 9,091 9,091 ma
418|R e - BOEALDERICATTERXE) 3,900 4300 = & H22.4.6
419|I3cAERS ZHEDSH 1,709 3,000 = = H19.5.23
421|security eye #5& 600 700 = =& H20.3.20
2| 422|SECURITY HANDBOOK 255 300] = = H25.11.1
W1 |BNBRAR L RE/—F 500 1,000| 1m215m | H26.11.12
A |eFxaYT4EALBNAVT— 1,428 1,714 = &
414|xo5182 (38) BEHA 1,164 1457 = &
43| RYBAEL (£F) it 1,164 1457 = &
415|RH45062 (8B) =R 1,164 1457 = &
MNT|Ry84EV(£) XA 1,455 1,749 = &
432|554 (£)2015 1,400 2000 = = H27. 5
2| 433|Ro584E2 (88)2015 1,400 2000 = = H27. 5
426\ 2¥X1YT4-FS52F—1\yP(SP) 1,137 1,300 = =
427 F 2T a Y IILEU AT (SC) 1,137 1,300 = =
428|232 AJUSSA (7'-) 473 800| = =
429|238y AISSA (51)-Y) 473 800| = =
430|213y AJUSSA (1)) 473 800| = =
435|txayT4-TSoF——IL  1U-p50R (BRIt 1,000 1,000 = =
A2l xa T4 -aHILEU R — L1508 (B 1,000 1,000 = =
436 AR H—2(3V)-I) RAE— 555 700 = & H28. 5
437 ABRA—TRVI-V) FARTIL— 555 700] = =& H28. 5
%l 438 ARRA—TRVI-L) EVY 555 700 = & H28. 5
43| AR H—2(3V)-1) R F 555 700 = =& H28. 5
0| ABRH—TRVH-I) 4 500EKLLE 537 680 = = H28. 6
AN |ABRH—TRYH-I) 48 1000 L 528 671 == H28. 6
2445V F<—H— 900 1,200 = = H25.6.7
2455 ) —> < —h—(F7%K74}) 700 900] = = H25.6.7
246|5)—>2—H—(T 1) 700 900] = = H25.6.7
247|5)—>2—h—(1vY) 700 900] = = H25.6.7
2485 ) —o2—h—(HLUY) 700 900] = = H25.6.7
245-1 |97 - v—H—ty b EF 7RI 1,500 2000 = = H25.6.7
246-1 |9y 7 - v—h—tyT o) 1,500 2000 = = H25.6.7
247-1 |9y T - v—h—tyIvy) 1,500 2000 = = H25.6.7
248-1 |9 w7 -v—h—tyrELYY) 1,500 2000 = = H25.6.7
410|AJSSA ZV)TF 274 IL(Er795—11) 91 Q3] == R3.4
450]AJSSA TV (fiifa) M 1,200 1,204] = = H30.5
451]AJSSA T v (fitfa) L 1,200 1,204] = = H30.5
452|AJsSA TV () LL 1,200 1,204] = = H30.5
2|  453|AJSSA T4 (Hif) 3L 1,319 1,364] = = H30.5
454|AJSSA T (HitR) 4L 1,319 1,364] = = H30.5
455|AJSSA RELE RSP (Hif) M 1,573 1576] = = H30.5
2|  456|AJSSA RALEHUROL Y (fif) L 1,573 1,976] = =& H30.5
457|AJSSA RELE RO Y (Fif) LL 1,573 1576 = = H30.5
458|AJSSA KA E RO Y (Fif) 3L 1,910 2000 = = H30.5
7l 459|AJSSA RELE RO Y (Hf) 4L 1,910 2000 = = H30.5
460JAJSSA R—)LRU 2. v—TRY (FHRK=)) 491 500 = = RJT.6
420|AJSSA FrvF @y Avva) $42 LL/3L 2,600 2800 = = H28. 11
434|AJSSA 25 AR5V T 555 557 = =& H29. 7




1-F o 2 N B e ] —heimis | = 58 | BT
544|% £ LIEFEDVD £6% 91,427] 135,906] = u
544-1|R & LIE4EDVD (E1%) 16,1901 29,049| =
E|| 544-2| 2 £L1E3EDVD (F2%) 16,1901 29,049| =
544-3| R & LIS3EDVD (5§3%) 16,1901 29,049| =
] 544-4| R £ LIEEDVD (54%) 16,1901 29,049| =
544-5|R & LIE3EDVD (5§5%) 19,048] 33,906| =
544-6| R & LIE3EDVD (5§6%) 19,048] 33,906 =
507|fAFSh 2 EHEDVDE2% 26,667| 43619 =
507-1|#HiFShDEMEDVD (FE15) 21,8451 24190 = ©
507-2 | SN DEMEDVD (F2%) 21,8451 24190 &= #
545|TBUE TV R2—F B E /ML fiTIDVD (1) 8,571 13,0001 =
502| XX BHEEMH1HOVD £6%5 82,5241 106,797 &= n
502-1|3BHEZ 1 #RDVD (F 1) 16,505 19,418] —#s520M
7| 502-2|%EFEE R 1#RDVD (F2%) 16,505 19,418] —#s520M
JU| 502-3|35EF B E i 1#RDVD (553%) 16,505 19,418] —520m
| 502-4|3EFE Z4% 1 4RDVD (F4%) 16,505 19,418] —m520m
502-5|X B EEEZ 1 1#kDVD (E5%) 16,505 19,418] —#520mM
502-6|35 @ FEZ i 1 #kDVD (FE6#) 16,505 19,418] —#s520mM
522|$rZBEEHEDVD 265 118,095 147619 = #
522-1|#EREHEDVD (E1%) 247621 31,429 =
522-2|#H E{E B HEDVD (F2%) 247621 31,429 = #
522-3|FEREHEDVD (E3%) 247621 31,429 = %
&| 522-4|HEHEKEDVD (F4%) 247621 31,429 = %
522-5|#E R EHEDVD (E5%) 247621 31,429 = %
522-6|#EREHEDVD (E6%) 247621 31,429 = %
523-1|3BF B EHEFRH2MHOVD (B 15) ERE 19,048] 24,762 = %
2| 523-2| K BFHEZHEFH2MHDVD (F2%) £RE 19,048] 24,762 = %
5241 | AL B2 752 4DVD (F 15) EHiR 19,048 24,762 = u
524-2 | B E B L E24RDVD (5 2%) B 19,048 24,762 = %
525-1 ek ZEHE 2/ DVD (5 15) EHiR 19,048 247762 = u
525-2| R E BT 2MRDVD (52%) Rk 19,048 24,762 = %
526|M X2 R L BHIDVD (1) ERIR 19,048 24,762 = %
528 FIR%IE/EZE$EIDVD (£15) 15,238] 18,571 = #
37|  530|2-1BiEt 2R ERBERELKBEDVD (£14) FHRE 14,0001 20,000]|4s%ca40m| RA3.24~
TE]  532|2-1 BiEH 2R E H I E BB KEDVD (£15) F11E 14,0001 20,000]|ss%<cs40m| R4A.6.1~
E| 534|-1 Bt R ERREREKEDVD(£15) FHE 14,0001 20,000]|ss%<cs40m| RA12.16~
Bl 536|-1BiepmrEsaLE-LEEovD (215 2 12,000] 18,000|4%<a40m| R3.7.19~
553\ !)T4-aHILA FDVD(£ 14) 1,710 3,000 4% cas0m| H24.76
2| 546[1-1EFELHERK1MOVD (£18)ERIR 16,000] 20,000]4#=x<370m| H23.4~
Bl 5471 1#REHER1KOVD(£18) R 16,0001 20,000]4#=x<370m| H23.4~
] 548|2-3MEER LM EH 1 MDVD (2125 KETHR EER 16,000] 20,000]4##<370m| R5.1~
549|1-1 2B £ 7B MR 1HDVD (£ 15) EHiR 16,000] 20,000]4s#<37om| H23.4~




1-F o 2 AN B fla ] —heimis | = 5 | BT

A| 6003 &E /N NiE HH4ERR 3,960 4400] = % R4.12.26

K] 604|FRi21 ERIEBERIBEEDRER 857 952 = H21.12.21
605| H18ER ECa7ILT—4 2,070 2300 = m H20.4.11
700|5 B85 SHSER 1,740 8,600 440 R4.12.15

FH| 705|65mEFHERDI-HDANE -EEHIE 1,620 1,800 330 H25.6.20
707 |EE EEE KB BEEEGE150) 1,800 2,000 165 H28.4.10
T108|BE EEAEARBBEMEE (E75) 1,800 2,000 165 H27.6.30

& 09| N\SRAVE —BiSERIETEED— 1,350 1,500 165 H31.4.25
TO0|SHSERES Y RE1E 13,500f 15,000 330 R5.8.25
| SHSERES Y RE2E 13,5001 15,000 330 R5.8.25

E 72| SHSERES LY RESE 14,4001 16,000 330 R5.8.25
3| SHSERES LY RE4E 11,7001 13,000 330 R5.8.25
N4|70FARERRDER-E&%E 1,800 2,000 165 R3.11.25

S| 716|SHSFER HERRFHLZBRIRE—/—F 2,700 3,000 165 R5.5.15
TT|SSER 518 -t R REEREE/—+ 1,710 1,900 165 R5.5.15
T18|RIE/ S—h2A LE @A DR 1,080 1,200 165 H27.3
T|&EHIBIM A5 ESE MR-SB-8A 1,800 2,000 165 R5.3.20
T3 BEFLOLLLHNEIER 1,800 2,000 165 H21.2.20
800|EHEEERLE (215 16,2001 18,000| semamy fnkR=
801|& R IR BREZE % (R5.7 A MEITHURER) E31hR 1,440 1,600] 1#330M R5.8
802|RENARANER=aTIL 4,050 4,500] 1#400m H21.2.6
803|{A A IEIRIRE/ > F T v (R 9,000 10,000 stpsmp fngR=

Z| 804 HEEHRERE -BONURTvonR) 10,8001 12,000] semams fngR=
805|I[KDRAYE EERR (MBEEXS) 28,571 - - -
806|[KDRAYE EERIMTR (REMNEXS) - 47,619 - -

D] 807|IEEAR—LR—SHBY—E R 98,000{ 118,000 - -
808|I i EHPRIR - EHEERI2EEDH 60,000{ 60,000 - -
812|(HETHRIABAXAFRENES 2,340 2,600] 1za60mM -

) 813|CERILA B RAFRENMAEI0R) 4410 4,900] 1za60m R5.4.1
814|EHE Re-BERTYNIvY 198 220| zp=# | H28.10.31
816| S H4EARI RAIERDEZH IDK A& 2,520 2,800] 1za10m R4.7
817|(KETHRI A fERR DB A &304 3,150 3,500] 1sma60m R5.6.1
820|EE A5 EMBERANILERYIVMRESE 1,667 1852 == H28.3.11




I—F m % PN B R — R | = & | o7
830| 74 RN—F R (FAANY)3{E{T) RAE—(S) 6,273 7,200] m= a1 5mLEE
831| 74 RN—H R (FAAN )3 ) RAE—(M/L) 6,273 7,200] m= a1 5mLEE
832|7 4 RN—H R (FAAN )3 ) A E—(LL/3L) 6,273 7,200] m=ams15mLEE

R 83| FARN=FRR(FAANYY3E ) FAE—(XL) 6,273 7,200] m= a1 5mLEE
834|7 4 RN—H R (74N )3 ) T IL—(S) 6,273 7,200] m= a1 5mLEE
W 835|7ARN—FRR(TAANYI3ER) TIL—(M/L) 6,273 7,200| s 8 mis1 5ELEER
8367 A Z/N—FR R (FAANYI3ME ) T JL—(LL/3L) 6,273 7,200| fnamis1 5ELEER
I 8377 ARN—FR(TAANY3ER) T IL—(XL) 6,273 7,200| mnsamis1 5ELEER
838| 7 A RN—RR (PAANy)3MELH) F'L—(S) 6,273 7,200] mm 815 ML S
E 83| TFARN=FRR(FAANYI3MER) FL—(M/L) 6,273 7,200| 8 mis1 5ELEER
840]| 7 A ZN—H R (FAANy93ME ) 5 L—(LL/3L) 6,273 7,200| 8 mis1 5ELEER
8417 A ZN—F R (FAANY93MEST) F'L—(XL) 6,273 7,200| fnmamis1 5ELEER
8427 A RN—F R (FAANYH3EE) TFv4 (S) 6,273 7,200 mm 815 MR
843| 7 A ZN—F R (FAANYI3MES) TS5 94 (M/L) 6,273 7,200| 8 mis1 5ELEER
8447 A ZN—H R (FAANy93MEH) TS5 vH(LL/3L) 6,273 7,200| fnamis1 5ELEER
845|7 A ZN— R (FAANYI3MEL) T 5w (XL) 6,273 7,200| s 8 mis1 5ELEER
846| BT AR/ (3EtEYR) 1,182 1,714 msE 8 miis1 5 ML Ex
847|HBN RS YT 455 600| mzmamsHELEE
848|7 A ZAN— R (FAANy3ME ) 30055 LA £ 6,250 7,200 ey
8497 A ZAN— R (FAANy93MET) 300€y+ LA E 1,050 1,714 ey
850|NEWF A AN—%R1Z74—h (YR AFIE ) RAE— (7)) 6,819 8,200| m=amis1FELEER
851|NEWFAAN—%R1Z74—L (R AFIER) RT A+ (71— 6,819 8,200| mmsamis1AELEER

OFHLAH DI, BENMBEL LD TIEX TS,

EEEEE -HMEEEN v i

FHSE10/12BHRAE FHiAl)

BEREEXEERE \vD(U1E~45) 1,237 1,237 ==

BHEREBETEE N \vD 1,237 1,237 = =
ORENY DT EXITILHBEBHR~SELLET,

REN Y A

REHE-ER-EER-FRBE S AYD 1,200 1,200 = =

MR- EER - R 2R YD 955 955| = =

ORENY D EX I E e BRI ~PELOLET .

SHM5E10812BHE F Al




